'Il! !’, A!! ”'!

PRODUCT

P1/13

ECHNICAL INFORMATION
p 6207D, 6217D, 6237D

6317D, 6337D, 6347D

[Description 18

9.6V, 12V, 14.4V Cordless Driver Drills 10mm (3/8")
12V, 14.4V, 18V Cordless Driver Drills 13mm (1/2")

CONCEPT AND MAIN APPLICATIONS
These six tools have been devel oped as upgraded successors
to the existing Makita tools of Model 6203D series, and features
increased power and enhanced mechanical parts.
One of the remarkable features is the repal ceable armature for

reduced repair cost.

Listed below are variations of these new models.

Model No Batter Battery | oh Dimensons mm L)
- y Type arger 10mm (3/8")
& | 6207DWDE |9134 (9.6V, 26Ah) / 2pcs | Ni-MH | DC1413 Model No. | 6207D | 6217D | 6237D
g 6217DWDE |1234 (12V, 2.6Ah) / 2pcs | Ni-MH | DC1413 Length (L) 2B 233 233
S | 6237DWDE | 1434 (14.4V, 2.6Ah) / 2pcs |Ni-MH | DC1413 ©-1g) | (O-U8) | (1)
6317DWAE | 1222 (12V, 2.0Ah) / 2pcs | Ni-Cd | DC1413 Width (W) (737) e fjjm) (3_1914/16)
6317DWDE |1234 (12V, 2.6Ah) / 2pcs | Ni-MH | DC1413 _ 3 03 a7
| 6317DWFE | 1235 (12V, 3.0Ah) / 2pcs | Ni-MH | DC1413 Height (H) 9. 9116) | (0-9/16) | (0-3/)
& | 6337DWAE | 1422 (14.4V, 2.0Ah) / 2pcs | Ni-Cd | DC1413 3mm (U2')
= | 6337DWDE |1434 (14.4V, 2.6Ah) / 2pcs |Ni-MH | DC1413 Modd No. | 63170 | 63370 | 63470
5 6337DWFE | 1435 (14.4V, 3.0Ah) / 2pcs [Ni-MH | DC1413 L (Ly] 253 43 43
6347DWAE | 1822 (18V, 2.0Ah) / 2pcs | Ni-Cd | DC1803 (9-9/16) | (9-9/16) | (9-9/16)
6347DWDE | 1834 (18V, 2.6Ah) / 2pcs | Ni-MH | DC1803 Width (W) (3_1914/16) (3_1914/16) (3?3?/4)
6347DWFE | 1835 (18V, 3.0Ah) / 2pcs  |Ni-MH | DC1803 i3 i =
Height (H)| 9.0116) | (9-314) | (9-7/8)
- Specification
See page 2.
» Standard equipment
* BaTErY COVEN ..ooviiieiiee et 2 pcs.
o Bit 2745 s 1 pc.
* PlastiC CarryiNg CASE ....cccvververiereesieieseeseeseeeeseeeesessessessenees 1pc.

< Note > The standard equipment for the tool shown may differ from country to country.

» Optional accessories

Model No. Battery Charger
6207D 9120, 9122, 9133, 9134, 9135, 9135A DC1413, DC1439, DC1803, DC1822, DC9711
6217D 1220, 1222, 1233, 1234, 1235, 1235A DC1413, DC1439, DC1803, DC1822
6237D 1420, 1422, 1433, 1434, 1435 DC1413, DC1439, DC1803, DC1822
6317D 1220, 1222, 1233, 1234, 1235, 1235A DC1413, DC1439, DC1803, DC1822
6337D 1420, 1422, 1433, 1434, 1435 DC1413, DC1439, DC1803, DC1822
6347D 1822, 1833, 1834, 1835 DC1803, DC1822




- Specification

P2/13

T Model No. 10 mm 13 mm
Specification 6207D 6217D 6237D 6317D 6337D 6347D
Voltage (V) 9.6 1 144 12 14.4 18

Chuck capacity (mm [inch]) 1-10[1/32-3/8] 15-13[1/16 - 1/2]
Drilling capacity Stedl 10[3/g] 13[1/2]

(mm [inch]) Wood 25.4[1] | s2p1-v4 | 254[1] | 32[1-04) | 38[1-1/2]
No load speed High 0-1,300 0-1,300

(rpm =min -1) Low 0- 400 0-400

Declutching torque
(N.m [kgf.cm / ft.Ibs])

1-6[10-60/0.7 - 4.4]

1-6[10-60/0.7 - 4.4]

Max. fastening torque | Hard joint | 50 [500/ 440] | 60 [600/ 530] | 65 [650/ 560] | 60 [600/ 530] | 65 [650/ 580] | 80 [800/ 710]
(N.m [kgf.cm/ in.lbs]) | Soft joint | 20 [200/ 180] | 25 [250/ 220] | 30 [300/ 270] | 25 [250/ 220] | 30 [300/ 270] | 35 [350/ 310]
Electric brake Yes Yes
. 16 stages 16 stages
Torque settings ( + drill mode) ( + drill mode)
Variable speed control Yes Yes
Mechanical 2-speed Yes Yes
Reverse switch Yes Yes
Net weight with battery: Kg[lbs] | 1.7[37] | 1.9[42] | 20[4.4] 2.0[44] | 2.1[4.6] 2.41[5.3]
> Features and benefits
New Gear Assembly M or e Power ful Output
Prevents gears from falling out of place. High/ Low Realize;eg by atronger ;notor power EI us
Prevents clutch from actuating acciden- more efficient power transmission by new
9 Speed Change Lever gear assembly

tally in drilling mode.

Change Lever for
Drill/ Screwdriver Mode

Working mode can be changed
simply by one action.

Adjusting Ring
For 16 stage torque settings

Metal Gearsfor
Enhanced Gear Assembly

All the gearsin gear assembly are
made of metal.

[Model 6207D]

Note: The feature with amark* is as same as tools of

Model 6203D series.

New Separable Type 31 Motor

1. Uses strong magnet for increased power.

2. Construction without motor case allows;
« Light motor body.

« Big diameter fan for increased cooling
efficiency

« Independently replaceable armature

Externally Accessible Brushes

Palm Fitting Soft Grip

For controlled operation and
operator comfort

Bit Holder *

For storing a driver bit



P3/13

[gG] 6] [ev] el [gg] ovlte rvloz [2€] [eg] ovitz yvloz [2€] [sa1] 6
G2 z2¢ 6T ST SZ /yvloe | IlevleT LT v'e /yvloe | llevleT LT :(ArirRg Y1m) yBM BN
[vrt-6] [v/T-6] [vrt-6] [v/c-6] [OT/1T-6] [erT-6] [e/t-6] [8/2-6] [v/e-6] [9T/6-6] [o1/6-6] ([yout] wiw)
Gee gee gee 6172 oie e Ve 162 Ly £ve £ wybeH o
[8/e-€] [yrT-€l [rrT-€l R [r/e-€l orrt-€l | [Or/IT€l €] [vre-€l or/rt-€l | [9T/1T-€] €] ([youn] wiw) m
98 €8 €8 : S6 6 6 L 56 6 6 L UIPIM z
[8/2-6] [8/2-6] [8/2-6] [0T] [ot/6-61eve | OT/6-61ve | [8/T-6] [0T1/6-6] | [ot/6-6]lcve | [oT/6-6]eve | [8/T-6] ([youn] wiw) ?
V4T P47 P47 GGe /[sri-6lece | /l8m-6lece €ee eve /[sri-6lece | /[8r-6lece €ee yibus
0SP -0 00€ -0 0Sv -0 00% -0 oSy -0 00% -0 00% -0 Mo | (v unu=wdi)
0SK'T -0 00T'T-0 || 0OV'T-0 | 00ET-0 | 0OV'T-0 | 00Z'T-0 00€'T - 0 ybiy | PeUs PeojON
apouw ||up apow ||Up || spow ||up apouw ||up apouw ||up
+ safers €7 +safers /T || +sabes o1 +sabels /T + safers 9T sbumss anbioL
SOA ON ON ON SOA a|puey dub 1j0S
ON ON SOA ON ON dubepis
ON ON SOA ON ON Buisnoy seab wnuiwn |y
saysnuq
ON ON SOA SOA SOA a|qss80%e A|RUseIXg
loovlsy | [reclge | lotelse | loozlez || loovlsy | [azelte | logeloz | loozlez Do tomenmng wm w
c !
[oze] oe [ooz] 2z [osT] 02 [ozz] se looclez | lostlzt | [oetlvt lotelse | lozzloe | loczlse | lostloe wolyos |5 ® m
(e1ge|rene 10N) =
[ovr] 05 [o9g] T+ [ovel 8 [ovr] 05 [otel s [022] 1€ [ozz]l se [oT2] 08 [08s] 59 [ogs] 09 [otr] 05 wiolpreH | £ El
[erlet [erlet [erlet [erlet [erleT ([youn] ww)
[zrrleT /el ot [geloT [8/e]l ot [zrTleT leelot | /lselor [g/eloT [zrTleT el ot el ot [sre]lot Aioeded yonuo
8T ) T 96 8T Ty zt 96 8T ad Al 96 (A) abeyjon
TV vI-V asee9 aste9 ales9 as1e9
- - ‘A= uo 1110
8T-Vv Or YTV v 96-V asve9 Qse29 Q8129 asoz9 alve9 1aLE29 1anze as0z9 17201} 108ds
v Joyedwo) SN ON BROW

sponpoJd Jo com:mo_EoU -



P4/13

- Comparison of products

Time Required for Driving a Screw/ The Number of Screws Driven/

DrillingaHole Holes Drilled on a Single Full-Charge

7 ~~

@ 9.6V Models (Numbers on the bars below are relative values when the capacities of 6203D are indexed at 100.)

o Test 1: Drilled holesin 38mm (1-1/2") thick Spruce; with 7/8" Spade bit === ; on High speed drill mode.

6207D

-

5.9sec

6203D

100

6207D
6203D

«—=Slow

50

100

Fast —

TR T < o<

2.6Ah

100

= Few

50

100 Many —)

e Test 2: Drove 1/4" x 3" Lag bolts B ; into Spruce; on Low speed screwdriver mode.

6207D

I

7.3seC

6203D

100

6207D
6203D

= Slow

50

100

Fast —

T
SCrews

2.6Ah

100

= Few

50

100 M any —

@ 12V Models (Numbers on the bars below are relative values when the capacities of 6313D are indexed at 100.)

eTest 1: Drilled holesin 38mm (1-1/2") thick Spruce; with 7/8" Spade bit 4=>==/; on High speed drill mode.

holes
6316D 105 | 6316D 2.6Ah 105 |
| |
6313D 100 6313D 26Ah 100
| | _ |
Competitor A 115 | Competitor A 1.7Ah % |
| | ; |
Competitor B Competitor B
- 95 | Pt 2.0Ah 85 |
. | , |
Compe(tzl_tfr C 105 | Compe(tsliti)r C 17Ah 85 |
«—=Slow 50 100 Faste— = Few 50 100 Many—

eTest 2: Drove 1/4" x 3" Lag bolts gom ; into Spruce; on Low speed screwdriver mode.

95 screws
6316D 100 6316D 2.6Ah 100
| |
6313D 100 6313D 2.6Ah 100
. | _ |
Competitor A 100 Competitor A 17Ah 85 |
Competitor B | Competitor B |
5.1 100 51 2.0Ah 105 |
. | . |
Competitor C Competitor C
P 95 PY 1.7Ah 95 |
«—=Slow 50 100 Faste— = Few 50 100 Many—



Time Required for Driving a Screw/
DrillingaHole

P5/13

The Number of Screws Driven/
Holes Drilled on a Single Full-Charge

e Test 3: Drilled holesin 38mm (1-1/2") thick Spruce; with 1" Auger bit w~~==; on Low speed drill mode.

6316D 105 |
|
6313D 100
\
Competitor A
s T )
CompBe_titor B 105 |
. | |
Compg{[or C 105 |
=Slow 50 100 Fast—

6316D 2.6Ah 115 |
6313D 2.6Ah | 100
Competitor A A |
Competitor B 20ah_ % |
Comptitor © 1.7Ah 95 |
= Few 50 100 Many=—

@ 14.4V Models (Numbers on the bars below are relative values when the capacities of 6333D are indexed at 100.)

e Test 1: Drilled holesin 38mm (1-1/2") thick Spruce; with 7/8" Spade bit 4="==; on High speed drill mode.

6337D
6336D

6333D

Competitor A
A-14.4-0

Competitor B
B-2

Competitor C
C-2

Competitor D
D-1

— . p=
110 |
| 100
| 120 |
| s |
| 100
110 |
=Slow 5‘0 1<‘)o Fast—

6337D oF ol 51 sorews
63360 26Ah 110 |
6333D 2.6Ah | 100
ComPAefiltﬂL% 1.7Ah | % |
CompB?tzitor B 2 4Ah ‘ 105 |
Comlfijefiztor c 1.7Ah | 75
Comptitor D 3.0Ah | 110 |
— Few 5‘0 1(‘JO Many —

eTest 2: Drove 1/4" x 3" Lag bolts e ; into Spruce; on Low speed screwdriver mode.

6337D
6336D

6333D

Competitor A
A-14.4-0

Competitor B
B-2

Competitor C
C-2

Competitor D
D-1

I

100

100

110 |

110 |

= Slow

o o [
6336D 2.6Ah 105 |
|
6333D 2.6Ah 100
|
Competitor A
Pt/ 1780 8
B-2 .
[
Competitor C
o 1.7Ah ‘ 80
Competitor D 3.0Ah 125 |
I I
= Few 50 100 Many —



Time Required for Driving a Screw/
DrillingaHole

P6/13

The Number of Screws Driven/
Holes Drilled on a Single Full-Charge

o Test 3: Drilled holesin 38mm (1-1/2") thick Spruce; with 1" Auger bit «~~>==; on Low speed drill mode.

6337D
6336D

6333D

Competitor A
A-14.4-0

Competitor B
B-2

Competitor C
C-2

Competitor D
D-1

T o= | o T
105 | 6336D 26Ah 115 |

| 100 6333D Zean 100

| 115 | Competitor A L7an 105 |

| 0 | Compdiitor B 2ann 105 |

| 100 Competitor C 1A %

‘ 110 | Competitor D oA 115 |
—=Slow 5‘0 1(‘30 Fast — = Few 5‘0 1c‘)0 Many —

@ 18V Models (Numbers on the bars below are relative values when the capacities of 6343D are indexed at 100.)
e Test 1. Drilled holesin 38mm (1-1/2") thick Spruce; with 7/8" Spade bit 4="==; on High speed drill mode.

6347D

6343D
Competitor A

A-18

Competitor B

2.5sec 6347D
100 6343D
‘ 100 CompeAt\i_t% A
‘ 85 | Compet i_tor B
=Slow 5‘0 100 Fastc—

2.6Ah 100
2.4Ah | 95 |
1.3Ah 40
= Few 50 100 Many —

eTest 2: Drove 1/4" x 3" Lag bolts e ; into Spruce; on High speed screwdriver mode.

6347D

6343D

Competitor A
A-18

Competitor B

6347D

6343D

Competitor A
A-18

Competitor B
B-3

] 6347D
100 6343D
‘ 120 | Competi_tor A
‘ 100 Competi_tor B
= Slow 5‘0 100 Faste—
eTest 3: Drove 3/8" x 3-1/2" Lag bolts fme ; into Spruce; on Low speed screwdriver mode.
4.8sec 6347D
100 6343D
100 Compe&i_t% A
| 05 | Compeé[t:jgr B
=Sow 50 100 Fastc—

I
2.2sec

oo s |
2.6Ah 0 | OTes
2aAh 110 |

13Ah 45
= Few 50 100 Many=—

TN Y
SCrews|
2.6Ah 100
\
2.4Ah 95 |

1.3Ah 45

= Few 50

100 Many —

eTest 4: Drilled holesin 38mm (1-1/2") thick Spruce; with 1" Auger bit «s=~==; on Low speed drill mode.

6347D

6343D

Competitor A
A-18

Competitor B

4.8sec 6347D
100 6343D
[ .
Competitor A
‘ 110 | e
100 Competi_tor B
\
=Slow 50 100 Fastcy

e i JER
holes

2.6Ah

100

2.4Ah

100

1.3Ah 45

= Few 50

100 Many =)




P7/13

> Hint on setting torque

® Selecting Optimum Torque

The graph below shows the relation between the torque-setting number on adjusting ring and fastening torque
(= declutching torque), and the chart below the graph shows what number on the adjusting ring is optimum for
the screw to drive. Please refer to them when selecting torque; they will help you choose an optimum
torque-setting number to suit the screw to drive.

(The graph and the chart are available to all tools of Model 6207D series.)

Note: Actual fastening torque is not on the theoretical line of the graph.

o Advantages of 16 Torque Settings

e Optimum torque can be set for every size of machine screw from M4 to M6.
e \Wood screws can be driven with their heads flush with each other more precisely than ever even though the
screws vary in thickness or length, or the wood workpieces vary in hardness.

[ft.Ibs] (kgf.cm) N.m

[5.1] (70) 7
[4.4] (60) 6
L
[3.6] (50) 5
T
SF  [30] (40) 4
o 2
g% [2.2] (30) 3
e
[1.5] (20) 2
pa
[0.7] (10) 1
[0 (© O
The Torque-setting Number | | | | | | | | | | | | | | | |
on Adjusting Ring 1 2 4 6 8 10 12 14 16
Machine screw M4 M5 M6
235x22 |-
Hard wood
%; i (pine, etc) 24.1x 38
28| 2 25.1x 50
<o}
o u| B
8('7\‘5 ) 23.5x 22
o = Soft wood 241 x 38
(lauan, etc.) :
25.1x50 |—




> Repair P8/13

< 1> Disassembling of drill chuck SeeFig. 1.
For replacing gear assembly, drill chuck has to be disassembled.
Take the following steps.
1. Firmly hold No.1R139 "Drill chuck extractor” with vise. And lock spindle with the drill chuck extractor.
2. Open the jaws of drill chuck fully and take off flat head screw M6 x 22 by turning clockwise.
3. Disassemble drill chuck with hex wrench inserted into drill chuck by turning the hex wrench anti-clockwise.

If drill chuck is damaged, firmly hold the drill chuck with vise and turn spindle with wrench anti-clockwise
asillustrated in fig. 1A.

1R139 Drill chuck extractor

< Note>
For replacing other than gear assembly, it is not necessary to disassemble drill chuck.

< 2> Disassembling housing SeeFig. 2.
1. Take off brush holder caps and carbon brushes.
2. Slide mode change lever to the drill mode side.
3. Unscrew the following screws.
* Tapping screw PT 3x 16 : 9 pcs.
* Pan head screw M 4 x 22 : 1 pc.

Tapping screw bind

Mode change lever PT 3x16: 9 pcs.

Brush holder cap

- '\ Carbon brush

Slide mode change lever
to the drill mode side.

Brush holder cap



P9/13

- Repair

< 3> Disassembling gear assembly and motor section See Fig. 3.
Lifting up mode change lever, separated change ring, gear assembly, yoke, armature and endbell from housing

asaset.

Remove as a set without separating from each other.

< Note in disassembling >

Lock lever

/ Compression spring 2
Q/

&
N % Mode change lever

Remove so careful that the following springs
do not spring out.
Compression spring 2: installed in mode change
lever.
Torsion spring 2: fixing mode change lever
on gear assembly

<4 >Assembling leaf spring SeeFig. 5.
Assemble leaf spring to housing L asillustrated in Fig. 4.

Leaf spring

Housing L

- Housing L
Fig. 4
< 5> Assembling change ring

When separating gear assembly from housing, change ring can easily slip off from gear assembly.

Re-assemble change ring to gear assembly as follows.

1. Align the widest bulge of spring holder to the bulge of gear assembly by turning spring holder.

2. Assemble change ring by aligning the bulge of change ring's edge to the portion of gear assembly
marked with circle by the bulge of gear assembly.

Bulge of

The widest bulge of
gear assembly

spring holder

Bulge of
gear assembly

Bulge of
changering's edge

Bulge of
changering's edge



- Repair P10/13

< 6 > Assembling speed change lever
1. Before assembling, make sure that 2 compression springs are installed in the speed change lever. Seefig. 6.
2. Assemble speed change lever to the boss of gear assembly asillustrated in Fig. 6A.
3. After assembling, slide the speed change lever to the change ring side or yoke assembling side
and keep its dlid position.

(((‘((((( ), £)
2 compression ' y

springs N

For assembling speed change lever,
approach from yoke assembling side.
And press speed change lever to the
boss of gear assembly.

S &

Yoke assembling
side
Fig. 6A
< 7> Assembling mode change lever and housing

1. Hitch the hook of tension spring 2 to gear assembly and another hook to mode change lever asillustrated in Fig. 7.
2. Assemble mode change lever to gear assembly by inserting the boss of mode change lever into the groove
of gear assembly asillustrated in Fig. 7.
3. Assemble motor section (yoke, armature and endbell) to gear assembly. Assemble them to housing L asillustrated
inFig. 7A.

Changering

Mode change lever )
Motor section

Tension spring 2
(yoke, armature and endbell)

Housing L

Aligning the cut portion of
yoke with the boss of housing L,
assembl e gear assembly and motor
section to housing L.



4. Assemble compression spring 2 to lock lever asillustrated in Fig. 7B. Pulling mode change lever
to the another side of housing L along the surface of gear assembly, insert the lock lever into mode change lever
asillustrated in Fig 7C.

Compression spring 2

/ y
«@

Locl lever

Pull mode change lever
to the another side of housing L
in order to assemble lock lever to it.

Housing L

5. Pushing lock lever, slide mode change lever to the another side of housing L, and assemble housing R to
housing L by fastening screws asillustrated in Fig 7D.

Tapping screw bind

PT 3x16 : 9 pcs. \ﬁ

Pushing lock lever,
dlide mode change
lever to the housing
L side.

screw M4 x 22 : 1 pc.

Housing L



> Repair P12/13

< 8> Assembling drill chuck SeeFig. 8.
1. Firmly hold No.1R139 "Drill chuck extractor" with vise. And lock spindle with the drill chuck extractor.
2. Hold N0.1R298 "Hex socket" with the jaws of drill chuck firmly and turn the hex socket with No.1R223 "Torque
wrench" clock wise.
<Note> Pre-setting the fastening torque for torque wrench : 49 N.m - 58.8 N.m
3. Fasten flat head screw M6 x 22 by turning it anti-clockwise.

No.1R224 Ratchet head

No.1R298 Hex socket

Flat head

screw M6 x 22 ]
1R139 Drill chuck extractor

No.1R223
Torque wrench



» Circuit diagram

Endbell complete
] P

Color index of lead wires
Switch Black E—
M1 M2 | Red E—
B— B+
|

<€ 2} Battery holder
- Wiring diagram

Armaturefan ~ Yoke
Endbell :

O

L
| OE
AR Oy, olam 1Y

=
Lead wire (black) J Switch

Lead wire (red)

Rib

____

Lead wire (red)

Lead wire (black)

Battery holder




